Time Allowed: 1 hour and 30 minutes

Atomic Energy Central School No.2 Rawatbhata

CLASS 07 - ENGLISH
PERIODIC TEST I (2020-2021)

General Instructions:

=

10.
11.
12.

1. All questions are compulsory.

2. Marks of each question is given against them.

Gopal told the guards that he wanted to see the

a) The king's head councillor b) Queen
¢) King d) The palace
What did Gopal do when the guards prohibited from meeting the king?

a) He started crying b) He began to dance and sing loudly

c) He began to abuse the guards d) He sat down quietly
Most of the people attend the meeting when

a) the rebel is discussing other matters b) the rebel is sleeping

c) the rebel is busy in file work d) the rebel stays at home

What did the rebel wear when others were in uniform, in the poem The Rebel?

a) Fantastic clothes b) Poorly stitched clothes

¢) Funny clothes d) Sober clothes

Where was Soapy sitting restlessly when he received the first signs of approaching winters?
(The Cop and the Anthem)

a) In a Church b) At Madison Square

c) At a salon d) At a luxurious hotel

For how long had Blackwell's island been Soapy's winter home in the plot, The Cop, and the
Anthem?

a) Past few months b) For several years

c) For a few weeks d) Last two years

How can you say that it was the season of hilsa-fish? [Gopal and The Hilsa Fish]

What happened when the king heard his courtier's talking about Hilsa-fish? (Gopal and The
Hilsa Fish)

Why does society disapprove of the rebels? Write your answer in the context of The Rebel.
Who finds it difficult to imagine what a desert is like? [The Desert]

Discuss a unique feature of the desert plants and animals.

For how long did Soapy wish to be put into the jail on Blackwell’s Island? Write your answer

in the context of The Cop and the Anthem.

Maximum Marks: 40
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13.
14.

15.

16.

17.

We have orders to let them shout". What is the policeman referring to? 3]

There is one error in each line. Point out the errors and make corrections. Also, [5]
underline the correct words. The first one has been done for you.
Incorrect correct
Tide is an periodical rise and e.g. an a
fall of sea due to attraction to (€)] . -
a Moon and the Sun. Day in, (b) . .
day out, the rise and fall go (© . .
on predictable yet on the same (d) - .
time mysterious. At one time
in the day a sea is a long, long way (e) - .
out, leaving a huge expanse of sand.
Arrange the following groups of words into a sentence : [5]

a. can/tell / me /you/the / way / nearest / station / to / the

b. Prime / the / minister / announced / relief / the / people / to / all / the / district / of

c. Why /to/see/her/could/not/you/go /personally

d. policeman / there / stands / the / directing / the / traffic

e. have / these / mangoes / flavour / what / a / delicious
You are Ramesh. Today you had the following conversation with Rajesh, a friend of your [5]
elder brother:

Rajesh: Hello! Is it 991234509?
Rajesh: Yes. I'm Ramesh speaking. What can I do for you?
Rajesh: Well, Ramesh! I am Rajesh, you know your brother’s friend.
Ramesh: Oh, I see. Well, brother is not here now. So can I help you?
Rajesh: Could you please convey to him that he should bring my practical book today to school
as I need it in class today.
Ramesh: That’s fine. I'll do that.
As you are leaving for your school, write a message for your brother in about 50 words.
Put your message in a box.
Read the passage given below carefully and answer the questions that follow. [5]1
Along time ago in a village, there lived a girl named Elizabeth and her mother. They were so
poor that they had no food to eat. They starved for days. One day, Elizabeth went to the forest
to look for food. After searching for hours, she sat down feeling very exhausted. She started to
cry. Just then, an old lady passed by. She asked Elizabeth what had happened. The old lady felt
sorry for Elizabeth. Don’t worry, my child. Take this magic pot home. You will never starve
again, said the old lady. Elizabeth was surprised. What should I do with this pot?" she asked.
When you need food, just say Cook! Magic pot, Cook!. The pot will be filled with porridge,
explained the old lady. Elizabeth took the pot home and told her mother what had happened.

Immediately, her mother tried the magic pot. It worked! They were very excited. From that
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day onwards, Elizabeth and her mother had plenty of food and they shared it with the other
villagers
1. What did the old lady tell Elizabeth?
ii. What happened when Elizabeth went to the forest to look for food?
iii. What did Elizabeth and her mother do with the plenty of food they got?
iv. What did Elizabeth do when she got the magic pot?
v. Give a word from the passage which means, tired.
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Atomic Energy Central School No.2 Rawatbhata

CLASS 07 - MATHEMATICS
PERIODIC TEST I (2021-2022)

Time Allowed: 1 hour and 30 minutes

General Instructions:

All questions are compulsory

SECTION A Consist of 5 questions of 1 mark each.
SECTION B Consist of 6 questions of 2 marks each.
SECTION C Consist of 5 questions of 3 marks each.
SECTION D Consist of 2 questions of 4 marks each.

Section A
3+_ =-10
a) -7 b) 7
c) 13 d) -13
Reciprocal of % is
a) & b) 11
05 R

5
The range of the data 14, 6, 12, 17, 21, 10, 4, 3 is

a) 17 b) 18
021 d) 11

If we add the same number to both sides of a balance equation, the balance is
a) disturbed b) equal

¢) increased d) undisturbed
For the given figure, statements p and q are given below:
p: a and b are forming a linear pair.

q: a and b are forming a pair of adjacent angles. Then,

a) both p and q are true b) both p and q are false
c) p is true and q is false d) p is false and q is true
Section B

Find the product: (-1) X (-5) X (-4) X (- 6)
Find % of (i) 18 (ii) 27

Maximum Marks: 40
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10.

11.
12.
13.
14.

15.
16.

17.
18.

19.

Ashish studies for 4 hours, 5 hours and 3 hours respectively on three consecutive days. How
many hours does he study daily on an average?

A coin is tossed 15 times and the outcomes are recorded as follows:
HTTHHTHHTT,HTHT

What is the probability of having a tail?

Give the step you will use to separate the variable and then solve the equation:

Sm+7=17

Solve:3n+7=25

Two angles of a linear pair are in the ratio 2 : 7, find the angles.

Use the distributive property of multiplication over addition to simplify (-5)(8+16).

A floor is 4.5 m long and 3.6 m wide. A 6 cm square tile costs 23.25. What will be the cost to
cover the floor with these tiles?

Find the mean of first 6 multiples of 5.

Raju’s father’s age is 5 years more than three times Raju’s age. Find Raju’s age, if his father is
44 years old.

Two complementary angles are in the ratio 4 : 5, find the greater angle.

One number is 4 less than 3 times another number. If their sum is increased by 5, then the

result is 25. Find the numbers.

In the adjoining figure, AOB is a straight line. If X : y:z=6:5: 4, find the value of X, y and z.
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Atomic Energy Central School No.2 Rawatbhata

CLASS 07 - SCIENCE
Periodic Test 1(2021-22)

Time Allowed: 1 hour and 30 minutes Maximum Marks: 40

General Instructions:
All questions are compulsory
marks of each question is allotted against it
1.  Which one is saprophytic organism?
a) Pitcher plant. b) Cuscuta
¢) Mushroom d) Neem plant
2. Breaking down of food into simpler form using enzyme is called
a) Assimilation b) Digestion
c) Egestion d) Absorption
3.  Fibres obtained from animals are generally made up of
a) Vitamins b) Carbohydrates
c) Cellulose d) Protein threads
4. Mulberry silk is best silk because
a) It is soft and can be coloured easily b) It is thin, soft and elastic

c) It is elastic and have long fibre d) It is thick and hard

5. Which of the following heat transfer takes place even in vaccum?

a) Conduction b) Latent heating
¢) Radiation d) Convection
6. Match the following:
Column A Column B
a. Lichens i. Herbivores
b. Pitcher plant ii. Parasitic
c. Amarbel iii. Insectivores
d. Dear iv. Exchange of gases
e. Stomata v. Symbiotic association
7.  Match the items given in Column I with those given in column II.
Column I Column II
(1) Insectivorous (a) Symbiont
(ii) Autotrophs (b) Cuscuta
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8.
9.

10.
11.
12.
13.

14.

15.

16.

17.

(iii) Man (c) Pitcher plant

(iv) Lichen (d) Green plants

(v) Parasite (e) Heterotrophs
Mention the important functions of pancreas. 2]
Match the items given under A with those under B. [2]

Column A Column B

Selective breeding |Separating different textures

Shearing Washing of hair removed from sheep

Scouring Removing fleece from sheep

Reeling Process of taking out threads from cocoon

Sorting Selecting parents for obtaining special characters in their offspring
Why do we wear light coloured cotton clothes when it is hot? [2]
What is photosynthesis? Explain the process of photosynthesis in the plants. [3]
Explain the digestion in amoeba. [3]

Make sketches of the two stages in the life history of the silk moth which are directly related to [3]
the production of silk.

What are the precautions needed while reading a laboratory thermometer? [3]
[4]

Label the following parts in figure and name them.

a. The largest gland in our body.

b. The organ where protein digestion starts.

c. The organ that releases digestive juice into the small intestine.

d. The organ where bile juice gets stored.
How does the heat travel in air? Explain the sea breeze and land breeze in coastal areas in this [4]
reference.
Fill in the blanks: [5]
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a)
b)

c)
d)
e)

Plants like Cuscuta take food from plant.
All organisms take and utilise it to get energy for the growth and the
maintenance of their bodies.
is produced by liver.
Sorters disease is caused by bacterium

No medium is required for transfer of heat by the process of
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Atomic Energy Central School No.2 Rawatbhata

CLASS 07 - SOCIAL SCIENCE
PERIODIC TEST I (2020-2021)
Time Allowed: 1 hour and 30 minutes Maximum Marks: 40
General Instructions:
1. All questions are compulsory
2. Marks of each question is given against them

1.  One of the major developments was the emergence of the idea of of aloving, personal [1]

deity that devotees could reach without the aid of priests or elaborate rituals.

a) archana b) bhakti
c) prarthana d) pooja
2. Who were subordinate to the Chalukyas of Karnataka? [1]
a) Cholas b) Palas
¢) Chahamanas d) Rashtrakutas
3. Match the following: [1]
Domains of the .
Earth Meaning
(a) Atmosphere (i) a blanket of air which surrounds the earth

(b) Hydrosphere (ii) the solid crust or the hard top layer of the earth

) (iii) comprises various sources of water and different types of water
(c) Lithosphere

bodies
a) (a) - (iii), (b) - (1), (c) - (i) b) (a) - (iid), (b) - (i), (c) - ()
¢ (a) - (i), (b) - (iid), (c) - () d) (@) - (@), (b) - (iii), (c) - (i)
4. Which of the following is true regarding the earth? [1]
a) It is dynamic keeps on changing b) It is dynamic keeps on changing
from inside and outside outside only
¢) It is dynamic do not change from d) It is dynamic keeps on changing
inside inside only
5.  Greatest damage during an earthquake is usually closest to the and the strength of the [1]

earthquake decreases away from the centre.

a) land b) epicentre
c) focus d) vent
6. State True or False: [5]

a)  Sultan Ghiyasuddin Balban controlled Assam, Manipur and Kashmir.
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7.

10.
11.
12.
13.
14.
15.
16.
17.

b) Nagabhatta defeated the kings of Andhra, Sind, Vidarbha, Kalinga, Kanauj, vanga, etc.

) The forces which act in the interior of the earth are called as Exogenic forces.

d)  Article 15 of the Indian constitution defines equality and prohibits any kind of social

discrimination.
e) Kerala Government gave its 60% budget to Panchayats.
Fill in the blanks:
a) Kadamba Mayurasharma and the Gurjara-Pratihara Harichandra were
up their traditional professions and took to arms.
b)  The domain of water is referred to as
c) The Red Fort is made of
d)  The Indian recognises everyone as equal.
e) percent of all communicable diseases are waterborne.
Write a brief note about Dantidurga.
Which are the major components of the environment?
What are minerals? How are they useful for mankind?
What is earthquake? What are some common earthquake prediction methods?
What is it that makes Kanta unsure about equality in our country?
Write down the main features of public health system.
Who was considered a Foreigner in the past?
Give an account of earthquake preparedness.
What were the activities associated with Chola temples?

What are the challenges faced by Indian Healthcare System?
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Atomic Energy Central School No.2 Rawatbhata

CLASS 07 - @€} (a9a 3R ST HgTHRd &Y

gl udier (2020-2021)

Time Allowed: 1 hour and 30 minutes

General Instructions:

=

1. goft el & IR folkemr rfari & 1
2. 37 Udd UH & G RUMU R T

"I IR H Edeh @G 1" are 7 J@ifehd 3 FHT AT HIF-AT 9 82

a) SegATeD Gl b) fharae da

¢) Wradraeh T d) SiTfaarae g3
faafafaa d @ ora-gr gdam vse fAsTarae gdamm o1 IerERur g?

a) g b) gART

¢) T&d d) &
HHR HYAT - TR BT I 31ef T

a) g1 b) 3R {T

¢) Tl g d) gg

IR AT - GETaR T I 37ef gt

a) ThR AT b) ST

C) ST AT d) g1
forg g A i we U B € -

a) I3y b) fe7

¢) S d) 5%
Jfti o1 Ifea e 2rsg g

a) Teia b) Ifera

¢) 3rfoia d) gafia
0T - 27&5 o1 I et &

a) qA¥ b) &s

WEISI d) gu=T

faafafaa d @ oia-ar1 use "sift@’ &1 gafaarht =gt 82
a) a4 b) d@cq

¢) e d) g
T - STs T AT 8

Maximum Marks: 40
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10.

11.

12.

13.
14.
15.
16.
17.
18.
19.
20.
21.

a) Ry b) 31T

c) AR d) a1
uted 37T AT heft & TT ATEIE @ fAcherare smgqor A # fohg Tt & g7 a?
a) gierTgR b) 3Ty
C) T d) Tt
3Ty fohgent g UT?
a) II-gHsT b) fm-grud)
c) JA-auT d) ggia-grudt

et T w) g g8 ] ust & SR AR
HES AT A Jfeg G 31TST GHE {9 3¥d 81 9Rd It ApS hl 90 A X aXg ¥ STehsT §311 8 | gt
gEgaii & oM fe-ufaifed Sgd 511 2@ €, 9@ ST ATeRuT Sl 31~ SIS T ATHAT AT UE 8T 8 | AG TS
@ <9 & anfdeah ol R 3rAfeId TaTT IS 8T &1 A o [AHH TR07 3aRd U @ 3NR &, Udl 7g] & &, sl
Th? 31T i off IXg TR & UL ST IR IUAH A8l & | AT hT TAeh aif HGMS Y AR i TS 37eif
FY TRE g9 IR T 8, ST GauTa! YU Sfta & Udeh &5 IR US BT & | YRR TS IR Icdfdds @ gt
g1 &1 319 Taref & foiu At & enfifes, qrarfSres aut Afae Aa=mard 8 ge S € ik Yerar &1 s gt
ST 81 372feTe <t AT=aT g foh afe foneft ag &t /i Scute & srfee g, ot Jeal 7 @rrfas €9 @ gig 8t
iG]

i. fasg it g gt guE 7 §?

ii. Agms @ <o Y anffer ATy W e gamg ue @1 8?
iii. T@ref a1 AN R T g9TE TS 82
iv. areferret &Y AT=IAT FT 82

VASENGR GINE ISIERE L ERRICCIM
JgSTd Gehe TR ST 1S bt U felfEu)
freareff ofk redF fv W= fety fAf@o |
HEYdel! i 370 gfdl R WL g1 hY 3237 8, <ifeh ag it 78t @ g)eft? hogaett UTs & SR R FaTg|
Rrergarar urs & fRHare & oM W ardrexor & @1 ulRad= simar a1?
fRretst aret Y smarst g &) I3 IS U wi-amt &t o 4 (Rrargarar)
Th 3R BART IR U735 & MyR R g4 Wif¥en SMgR &t o =nfgu?
foreft zaf<h ot 3k T @ gd IHD! ST T hY STt &2 (37h 3R gART )
3791 A Yahta & oftsw @ o urefar hY? 916t ASTHRA YT UT6 & SMYUR R T34 |
ST = gATe ot it Yt @ die & foly wgT?
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TTHTYL ST e 1 (AT R — 2 TAAATET

TIH FTHIAE TOET (TS 2021
Ryr-deFa
e - VI quTe — 40
i - 22/07/2021 T - 1T
T3 (%)
fAger — ool swor AfFaT € | ot o ot See v forg T g |
ToT 1- T501 o 3% U arag | forferw — 5X1=5
() ek Fefipa: F7 2
CIRIREIER PR
() FHET T 917 T 2
() FLENY & ANT=a ?
(T) FOTA: Al FHEHL: Tieq ?
5T 2- qTfersT | T30 T ersai il AT @reAt &&547 I H - 5X1=5
v, Braq , uE Berq, 3T, geer, srerte ot
(F) A |
(&) OTET: T |
() UfER AT ERCH e wateq |
(%) FEELT gTH T foarfe wafea |
(%) 79 Y gEI & |
o7 3- qTfersT ® 30 T ersai &l §6hd & ORI & e T’ - 5X1=5
qET , T, F9Hq , q(e: , @I
gz (@)
T 4- 9Te% ®Y T 4Tq T FoIiET - 3X2=6

() T TioervT orex o =9 gt fFrafs & vwa= 7 fGa=a § form -

(@) ‘&I 951 & w7 AT FritE THaEd i agaad | fore -

(1) =X 458 % € ITALEY THAa ¥ agaad § ord -



s ()
751 5- = for went o s fore — 3X3=9
() 28, 30, 31 Si=hi T HeFa areai | ferfery -
(@) 9Teat % HER H ATFT TANT F¥ — dTTorHT , TEAhT , ToT:
() FER A % S QAT # ferfer -

() T T TqH T ?
(i)  gfErE =fifer et w2
(i) TS A qE@H ?

T ()
T 6- () 1= AT 0 Geha o i Bl § 99 o - 5X1=5
AT T T2 T qud T3 |
AT AT AT 99 T Tiafgad ||
(@) "ha & Bar 7 oTqars a2 - 5X1=5

1) For: Heweer 7= sear |

2) T AT HATALT T — ATIATI S |

3) afeds ferarmer wa= Fearierg &qedT: oE |

4) T FOT: HAHT: FALaeq Fd FaAq |

5) TUHaT #fidhs: dF T TTd: Tadrad a7 Y = |




